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ex) title

name of a book, music etc.
the right of legal ownership
an appellation of respect attached to a person ' s name
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| don ' t know the title of that book.

w = title
s1 = name of a book, music etc
¢1 = {l don ' t know the of that book}

v1 = know, v9 = book, ...
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s = arg max P(sg|c
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= argsinaxp(dsk)P( )
= arg max[In P(c|sx) + In P(st)]
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s = arg max([In P(c|sy) + In P(sg)]
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prendre une mesure
take a measure
prendre une dicision
make a dicison
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t1, . tn(=T)O0000O,21,..,2,(=X) O indicator 00 0O
ex) t; = take, ta=make, x; = mesure, x,, = dicision

TOOOODODOoOOOP={P1,P2}0000O
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}
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